I=EK
| —
MHCTPYKLWS MO MOHTAXY

N SKCIIJTYATALUN

PRIMER BJIOK PO3ETOYHbIN
C BbIABUXXHOM KPbILLKOWM
4MOOYNS

PM.BR51.001.1.MM

Cxema nagenus

Cynnopt

BhiasukHas Kpbilka

Juuesast naHenb

Kopnyc BblABKHO

KHonka KPbILLKU

Kopo6ka nnactukosas

1. Bbipe3 MOHTa>Horo orBepcTus
Cpenatb NpSMOYronbHbIV BbIpe3 pasMepom
142x108 MM Ha BbIGpaHHON NMOBEPXHOCTU. TomnwmHa

NOBEPXHOCTU A0MKHA OblTb HE MeHee 15 MM.

2. CoepuHeHune NpoBoaoB

2.1 BbIKpYTUTb BUHTbI, (OUKCHPYIOLLIME OMOPHYIO
arnoMUHUEBYIO MNAcTUHY CynnopTa, BbITSHYTb ee U3
Kopryca usgenwvsi, 3aTem focTaTb CynnopT.

2.2 TpoTsiHYTb CETEBOW LUHYP Yepes OTBepCTuE Ans
BBOAa kabens B HWXKHeN YacTu kopobku, npeaBapuTenbHO
yAanue 3arnyLuky. [lanee npoTsiHyTb €ro Yepes oTBepcTue
BbIABVKHOW KpbILLIKW 1 cynnopTa. MoakniounTs npoBoaa
K COOTBETCTBYIOLLMM 3axumam YW,

2.3 3awenkHyTb QYW B cynnopT 1 ycTaHOBUTb
B BbIOBWXKHYIO KpbILLKY. Y6eauTbes, 4to cynnopT ¢ QYU
YCTaHOBIEHbI HA OAHOM YPOBHE C NMOBEPXHOCTbIO Koprnyca
BbIABVKHOW KPbILLKY.

2.4 3agBuHYTb anioMUHMEBYIO MIACTUHY B OTBEPCTUE
Kopryca BblABWKHOM KpbILLkm (1).

2.5 3akpenuTb antoMUHMEBYIO NNACTUHY BUHTaMK (2).

aanMHme

nnactuHa T

3. YcTaHoBka KOpo6ku 1 NULLeBOM NaHenun

3.1 MomecTuTb KOPOBKY C CETEBBLIM LLHYPOM B Bblpe-
3aHHOE MOHTaXKHOe oTBepcTHe, y6eamBLUMCE, YTO OHa
HaxoAWTCS Ha OAHOM YpOBHe C paboyeii NOBEPXHOCTbIO.
3akpenuTtb KOpobKy, MCNONb3ys ABa camopesa C NIockown
ronoskoit M3x18 (1).

3.2 BcraBuTb NULEBYIO NaHenb B KOPobKy, y6eams-
LUMCb YTO OTBEPCTUSA B KOPODOKe M NULIEBOI NaHenu TO4YHO
coBnajatoT. 3akpenuTb NaHenb k kopobke, 1cnonb3ys Asa
camopesa c nnocko rornoskor M3x18 (2).

3.3 3akpenuTb ceTeBoii WHYpP U-06pasHbiM 3axmmom
C nomoLLbto AByx camope3oB M3x5 B HUXHEN YacTn
kopobku (3).

4. 3kcnnyaTtauusa uspenus

4.1 YT10ObI OTKPBITh KPbILLKY, HEOOXOANMO HaxaTb
Ha KHOMKY C HEGOMbLUMM YCUNNEM, KpbILLKa MeaneHHO
oTKpoeTcs.

4.2 YT100bI 3aKpbIThb KPbILLKY, HaAaBUTb Ha NOBEPX-
HOCTb KPbILLK/ C HEGOMbLUMM YCUNneM A0 TeX Nop rnoka oHa
MOMHOCTbIO HE 3aKpoeTCs.

INSTALLATION AND OPERATION
INSTRUCTION

PRIMER SOCKET BLOCK
WITH RETRACTABLE COVER
4 MODULES

PM.BR51.001.1.MM

Product diagram

Modules

Retractable cover

1. Cut-out opening

Make a rectangular cut-out 142x108 mm on the
desired desk or table surface, desktop thickness should be
more than 15 mm.

=

2. Wires connection

2.1 Unscrew the screws securing the card frame
aluminum plate, pull it out of the product body, then remove
the card frame.

2.2 Pull the power cord through the cable entry hole
at the bottom of the box, after removing the plug. Next, pull
it through the opening of the retractable cover and card
frame. Insert the wires into the corresponding terminals on
the back of the modules.

2.3 Snap modules into the card frame and install into
the retractable enclosure. Ensure that the modules lie flush
with the surface of retractable enclosure frame.

2.4 Slide the aluminum plate into the retractable
enclosure beam (1).

2.5 Secure the aluminum plate with screws (2).

aluminum

3. Installing base box and cover panel

3.1 Feed power cord through the cut-out, mount the
base box into the cut-out and be sure it’s fully leveled with
the worktop. When in place, secure the base box from the
side using the four M3x18 flat-head self-tapping screws (1).

3.2 Install the product panel into the base box, verify
precise alignment to ensure the two holes on the base box
for mounting the panel are revealed. Secure the panel
to the base box using two M3x18 flat-head self-tapping
screws (2).

3.3 Secure the power cord at the box bottom with a
U-shaped clip using two M3x5 screws (3).

4. Operating instructions

4.1 To open the cover, apply gentle pressure on
button, cover will open slowly (1).

4.2 Push down on the cover surface using gentle
pressure until the product is secured in closed position (2).

MpousBegeHo: Yxau3sH CuHo AnekTpo-
TexHukan Ko., NTO

A5 6unguHr, Cynioii Uhpgactpuan 3oH,
TMowwn, KOaumH, YxaussaH, Kutan, 325604
Made by: ZHEJIANG SINO ELECTRO-
TECHNICAL CO., LTD

A5 Building, Sulv Industrial Zone, Liushi,
Yueqing, Zhejiang, China, 325604

WN3panwne / Version 1



